64 |
E‘Sem p}oa

F’G“b 'G’S def)VCdﬂ C!L {c,,
g'ﬂ pMClDYM.

a) (xn®
Cle) = [xs) ©
fe 8 (v
o) Lbs(le)
C )= Cos (2t
¢'(x) = — conl 2x¥) e (9x)
()= = 4)6%(2&‘”
belge  flo) = L

£y gea ? nao QUV\LLM\

Sen Cb(,)c): ’C(XL) : Ho”a le (g () 4

st(z\ No w\\'(//\\m evaloe o)



= o b deeh o ipi€ ¥

4 () |y x©
GA\(‘Q? 2% - 2(2) - ___‘_4 :__i
) & x| 2 v (% T 146 o

d\ Sen | (o (scH)\

Cid = Sen( (0 Get))

)
{\(Q = (SenLealern) = e (lalien)) - (= Sea (et

= = Cos ((og (x+1)) o Cenlxpr)

e\ Se/n( (»Zx'\g\z) |

Cl)= Sen( (2xtd?)
) oy (lamed) ¢ 2 (wxid)e 2

= Y4 ¢ (2xks)) ¢ (2% +)



